ODoddIidoilodonoodoonog 20130 60 120
00000 O

0000000000 y0O 200000y 000000000a,b,¢,...0000000

Ly=(z>+1)°Bz+1)*
y = 10z(2® + D)*Bz + 1)* + 12(z* + 1)°(3x + 1)3

2.y=x+Vz’+a
T
/:1+—
Y vVii+a
3. y=e"
/_ae(ll’
4 = e
/ —x2
Yy = —2xe
5. y=tanx
1
/I __
y= cos? x

6. y = sinax cos bx
Yy’ = acosax cos bx — bsin ax sin bx
7. y = sin® ax

Yy = asin2ax

1
r_
4 V31— 22
9. y=cos 'z
, 1
Yy = ——F——
V1—a?
10. y =tan"'x
y = !
1+ 22

1. y=(1+2%e"

12. y = e
y' = cos zeS®
13. y = 2°

=x
y' = (logx + 1)a®

sin x

4. y==x

, sin x .
y' = | coszlogx + o
x




15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

Yy = Vsin2x

,  COos 2x
Y V' sin 2z
2 —1 x
= log(l —2) — = —
y 5 og(l — ) 5

y = xlog(l —x)

= e* cos bz

y' = (acosbr — bsinbz)e™

y = (logz)?

y = %(bg z)®

1
v= Vlog x

1
y = —%(10@0)_%
y = sina®

y' = 322 cos x®

sin? ax

y=¢e
Yy = asin2axe

sin? az

=zxlogxr —x
y =logx

lo ‘ta gj’
= n—
Y g 5
/: ]'

sin x
B 1 o r—a
y_2a & T +a

1

r_
y_xz_az

1
Yy = é(x\/ﬁ +a+alog |z + Va2 + al)

y =V Ta

. <\/1—|—x—\/1—:v

e A Iy
1

/

v v 1 — 22

)

2
4



